A & 0 & A S E M A
2009 & 204 LRSI

2A: sEXNE N

I SEASHY

Hel: sEXNEI|et RS (2 &)
SN BB E(B) - MBEAY - BES il are o HIDE2
SE=X& 2,145,271 2,860,944 AT715,673
= 190,110
s 350,000
= 1,000
& 37,210
Al 1,566,951
SEASIOHY 2,000,018 2,676,112 A676,094
= 190,110
s 350,000
= 1,000
& 37,210
Al 1,421,698
SEXNEI|BEY 898,987 106,857 792,130
= 131,640
s 300,000
& 12,000
Al 455,347
NesRE s 2,400 3,500 A1,100
= 1,200
Al 1,200
202 44| 2,400 3,500 21,100
= 1,200




S A

M SEASNE

@Rl sENZIIBEY (&<

SN HE - SR(B) - MRAY - BES ol arey o HI D2
202 O4dl Al 1,200
04 =HstoH| 2,400 0 2,400
O NES2PA o= ol 2,400,000& » 1% 2,400
= 1,200
Al 1,200
dEsEg 2sX# 12,000 10,780 1,220
= 6,000
Al 6,000
202 O4dl 12,000 10,780 1,220
= 6,000
Al 6,000
01 3LAbI 12,000 10,780 1,220
O NeSFE s=EMLXE ¢l 480,000& * 259 12,000
= 6,000
Al 6,000
NZsdastgdsalos st 2,000 2,000 0
= 1,000
Al 1,000
201 Lor2Hd| 1,120 980 140
= 560
Al 560
01 Ar2teld] 1,120 980 140




ek
X XH -
(=

=l

==XJ
SEA2

sENCI|B xS

SA B G(3) - RN - B e HIDS2

O 238=E 1,120
o SYMSESHY 70,0008 * 162 * 13 1,120
= 560
Al 560

301 fet2ds 880 1,020 140
= 440
Al 440

10 BAHAHI2AS 830 1,020 A 140
O sastE S BB 55,0002 * 162 * 13| 830
2 440
Al 440

sENZIIEE AIEXIR 602, 151 1,847 600,304
s 300,000
Al 302, 151

101 el 2,151 1,847 304

10 JIANZ22NSES 2,151 1,847 304
O UeEsASAEE JIgEH 28 22 35,8403 = 4% » 15¢ 2,151

401 Al&ZHIZ SO 600,000 0 600,000
s 300,000
Al 300,000

01 Al&HI 588,840 0 588,840
O Al&H] 588,840
o sgolusat &l 600,000,000 * 98.14% 588,840




S SEXRD

I SEASHY

ool SEXTIIHEY (et &
S - B SR(S0) - MRAEY - BaS Of o o HIDS
[ 296,310
Al 292,530
02 Zcltl 7,380 0 7,380
O sgousa o5 Zeltl 600,000,000& = 1.23% 7,380
= 3,690
Al 3,690
03 AlZ= Yl 3,780 0 3,780
O sgolusa A5 AIE20Y| 600,000,000& = 0.63% 3,780
H2X T SElY AZE2I2 A NS 2,000 2,000 0
= 1,000
Al 1,000
202 OfH] 2,000 2,000 0
& 1,000
Al 1,000
01 =LHoitl 2,000 2,000 0
O HEXNE sEHg AlgaJ|2 AEUS 2,000,000 = 1& 2,000
=S 1,000
Al 1,000
=54 2 NEHESY ol 6,000 5,500 500
< 3,000
Al 3,000
202 o8l 6,000 5,500 500
= 3,000
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sEX2AD

. SEAMNNE
ool SEXTIIHEY CrRE
S - B SR(S0) - MRAEY - BaS Of o o HIDS
202 O4H Al 3,000
04 =H=toidl 6,000 0 6,000
O &% |84 & NcEE+E o= Ol 3,000,000& = 2& 6,000
& 3,000
Al 3,000
Nls & =258 32X 5 2,000 2,000 0
s 1,000
Al 1,000
201 €Bt=2gH] 2,000 2,000 0
= 1,000
Al 1,000
01 A2l 2,000 2,000 0
O det+=ZH| 2,000
o Mz & &2 82X 2= 20,0008 * 102 = 10& 2,000
= 1,000
Al 1,000
et m=sg9as AlZdE Z0AA 40,800 30,400 10,400
= 7,000
Al 33,800
201 €Bt=2gH] 29,200 20,300 8,900
s 3,600
Al 25,600




2A: sEXNE N

I SEASHY

ool SEXTIIHEY (e49: =2)
SN HE - SR(B) - MRAY - BES ol arey o HI D2

01 ArS2teld] 29,200 20,300 8,900
O ek=2H| 27,200
o HetI=2=deEs =58 20,000,000 = 1 20,000
o HEtti=sgetEs A2 7,200,000 * 102 7,200
= 3,600
Al 3,600
O gx=z 2,000
o Hetti==sgetEs sl a4 g gX 500,000& * 4CH 2,000

202 O4dl 4,800 4,000 800
& 2,400
Al 2,400

01 3LAbI 4,800 4,000 800
O Heei=setgsl &0t ol 60,0003 * 40% * 2« 4,800
= 2,400
Al 2,400

206 M=l 2,000 2,500 A500
= 1,000
Al 1,000

01 M=zl 2,000 2,500 A500
O Ueel==sgetedsl MAME # 2,000,000& * 10H2 2,000
= 1,000
Al 1,000

301 LeEAa3 4,800 3,600 1,200
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2 A
X XH .
(=

=l

==XJ
SEA2

sENCI|B xS

SN FHB () - ALY - B e RS2

10 SAtABI2a= 6,240 640
O &9 sEX% 75,0002 * 88 * 23] 1,200
O sgelaga g 7,000& * 40H  6IHA * 33 5,040

Ne3RE M2 = 21,080 21,080
= 10,540
Al 10,540

202 44| 21,080 21,080
= 10,540
Al 10,540

01 =UHbI 12,680 12,680
O NeSRA M2 A= 12,680,000 * 1% 12,680
= 6,340
Al 6,340

04 =H=oid] 8,400 8,400
O NeSRA M2 A= 8,400,000 » 1Y 8,400
= 4,200
Al 4,200

NESRR A A= 5,800 5,800
= 2,900
Al 2,900

202 o4l 5,800 5,800
= 2,900




2A: sEXNE N

B ARSI

el sEXNTDIIgEY (e

SA I S(EA) - NRAY - B2 0l & o DS
202 Ol Al 2,900
01 =UHbI 5,800 0 5,800
O NeSRF A A 2,900,000& = 2H 5,800
= 2,900
Al 2,900
SAAHIAsEEH 150,000 0 150,000
= 105,000
Al 45,000
201 ZEer2d| 45,500 0 45,500
= 31,850
Al 13,650
01 Ar22teldl 44,800 44,800
O gt==H| 37,000
o A= &L MEuU=8E 25 7Y 200,000& * 205 4,000
= 2,800
Al 1,200
o EEE AME MH 1,000& * 6,6000H * 55 33,000
= 23,100
Al 9,900
O 2g8=¢ 3,000
o s EALN MEjus A = 3,000
- Jl== 100,000& * 203 2,000
= 1,400




SN SEXND
HE: SE=ALS p
ool SEXCIIBEY (e

SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2

Al 600
- Xz 50,0002 * 203 1,000
= 700
Al 300
O gx=z 4,800
o S¢tE il EERF |4 WX IFE = 800,000& * 2CH = 33l 4,800
= 3,360
Al 1,440

02 Z2Z22<H| 700 0 700
O A2 EHI 700
o HAIG Zlis dME BA &X 500,000& * 1JH2A 500
= 350
Al 150
o HAIR Zlis SAE 25 P 200,000& * 15 200
= 140
Al 60

206 =4l 86,700 0 86,700
= 60,690
Al 26,010

01 M=l 86,700 0 86,700
O A2 Z2U=s A2 HE 1 36,300
o ZM 300& * 3,000€ » 73 6,300
= 4,410




D SEXNEL
D SEMIONYE
D sENDIIREY

SA - B ER(3) - NIRAY - BES Ofl & o4 e
Al 1,890
o 3& 2,000& * 3,00000 * 5& 30,000
= 21,000
Al 9,000
O 12l 1=332 I8 Mz 7L 6,200
o gt 20,000& = 31074 6,200
= 4,340
Al 1,860
O OHIE HIHCE A MHEHHE e 2 400,000& * 1009 2 40,000
= 28,000
Al 12,000
O s 88T HElus 280,000& * 3& * 53l 4,200
= 2,940
Al 1,260
301 YuBAZ 17,800
=2 12,460
Al 5,340
10 AIAHIZE A= 17,800
O s EXX dEjus & 30,000& = 40Z * 53l 6,000
= 4,200
Al 1,800
O A= EAT MEHuS 7,000& * 40 * 103 2,800
= 1,960




SA sEXNADL
. SEAMNNE
Chelr SENCIIBEY (el ™
S - B SR(S0) - MRAEY - BaS Of o o HIDE2
Al 840
O st Bl 2223 S| I 4HI24 30,000& = 100 = 32 9,000
= 6,300
Al 2,700
sell=dsAXE 10,016 0 10,016
= 5,000
Al 5,016
101 QIAH| 10,016 0 10,016
= 5,000
Al 5,016
10 JIANZ22NHSES 10,016 0 10,016
O s8ll= dgd A 10,016
o o=l 35,8402 * 1% » 52 * 43% 7.706
= 3,853
Al 3,853
o =g 35,8408 * 18 = 43& 1,542
= 4
Al e
o AHEEE (A, 18, &Y, &3 7,706,000& * 9.86/100 760
= 376
Al 384
o LOFINQYTE= 188,797& * 4.05/100 8
sgoEsd 255,835 1,008,778 AT52,943




2A: sEXNE N

i

I SEASHY
ool Sools (e49: =2)
SA I S(EA) - NRAY - B2 0l & o DS
sgEsy = 33,470
= 1,000
S 7,310
Al 214,055
HE=sYIIsns 28,620 23,710 4,910
= 6,710
Al 21,910
201 ZEer2d| 9,000 10,960 A 1,960
= 3,550
Al 5,450
01 A2t 9,000 10,960 A1,960
O get=2H| 6,900
o Molds&£A WS Wil M 8,000& = 750 6,000
= 3,000
Al 3,000
o Molgs&Au=s ¥ 682 Ssu=s S+ M 60,000& * 15 900
O 2g8=¢ 2,100
o Molgs&Hus A= 250,000& * 43| 1,000
o HESNE ZAE 100,000& * 6& 600
= 300
Al 300
© GAPLF ZA=E 250,000 * 23| 500
= 250




2A: sEXNE N

I SEASHY

ool Sools (et &
S - B SR(S0) - MRAEY - BaS Of o o HIDS
Al 250
202 o8l 2,000 1,500 500
01 =LHoitl 2,000 1,500 500
O Malgs&gAdus &, 100,000& * 10¥ e 2,000
301 2et2ds 17,620 11,250 6,370
= 3,160
Al 14,460
10 HAMBIRSE 17,620 11,250 6,370
O Molgs&gAu=s 7,000& = 1,000& 7,000
= 1,018
Al 5,982
O dEstd=s g4l 7,0008 = 209 = 700
= 300
Al 400
O GAPu= S4H 7,000& = 100& 1,400
= 492
Al 908
O S88 d&us 7,020
= 1,350
Al 5,670
O . =s2H? sgous odl 2 75,0008 * 10¥ e 1,500
SHoIst =2E 40,780 46,640 Ab,860
2 15,000




2A: sEXNE N

I SEASHY

ool Sools (e49: =2)
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
sgelfst =24 Al 25,780
201 Ler2d 10,780 11,640 2860
= 4,000
Al 6,780
01 AtR22H 10,780 11,640 A860
O get=2H| 2,780
o sOIMs S SAIE U= 6,000& * 80H 480
o SA=HOICHS W M= 100,000& * 203l 2,000
= 1,000
Al 1,000
o ZSASHOIME wE S+ M 60,000& * 53l 300
O 2g=+Y 8,000
o ZSASHQIME LAt 8,000,000& * 14 8,000
= 3,000
Al 5,000
206 M=Hl 12,000 18,000 26,000
= 6,000
Al 6,000
01 Mzl 12,000 18,000 6,000
O I =olHe s M2 7,500& * 80 * 203l 12,000
= 6,000
Al 6,000
301 LetEasg 8,000 2,000 6,000




2A: sEXNE N

I SEASHY

ool Sools (et &
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
10 AIAHIE A= 8,000 2,000 6,000
O dEZd=goiis nsM =2l 5,000& 40 = 2048t = 203l 8,000
307 2I2+OIM 10,000 15,000 25,000
= 5,000
Al 5,000
04 CQIZHHALE X 10,000 15,000 A5,000
O dSF=eliis XgE s B 2,500,000& * 2J4BF * 23] 10,000
= 5,000
Al 5,000
S22 o122 44X 24,000 4,000 20,000
206 =4l 14,000 0 14,000
01 M=l 14,000 0 14,000
O =&g+3 2SME L 14,000
o 23 stz 7 20,000& = 5004 10,000
o =3t ARAE = P 20,000& = 10074 2,000
o =3t SRHEE UR +Y 5,000& * 100K 500
o =3 HHHE Edl P 5,000& * 100 500
o =35t KU FA P 5,000& * 200m 1,000
307 21201 ™ 10,000 0 10,000
04 GQIZHHALE X 10,000 0 10,000
O =333l 23 MAIZ] HAIEE 10,000,000 = 1JH3] 10,000
=ZIIH SH0IEI 2= 4,180 2,160 2,020
= 1,170




2A: sEXNE N

I SEASHY

ool Sools (e49: =2)
SN HE - SR(B) - MRAY - BES ol arey o HI D2
=ZII1H SEH0IE) == Al 3,010
201 LEr2EY| 1,000 0 1,000
= 500
Al 500
01 ArS2teld] 1,000 0 1,000
O sJIH 8&018)= Xz 500,000& * 23] 1,000
2 500
Al 500
301 LerEa3g 3,180 2,160 1,020
= 670
Al 2,510
10 SAtAHI2a= 3,180 2,160 1,020
O 8302l =sus 8L 0l 30,000& = 106 3,180
= 670
Al 2,510
SISHA 54 92,750 63,949 28,801
= 890
= 1,000
L= 2,400
Al 88,460
201 Lor2Hd| 13,000 11,215 1,785
& 2,400




ek

sEX2AD

3 SEAMNNE
ool Sools (et &
S - B SR(S0) - MRAEY - BaS Of o o HIDS
201 €Bt=2gH] Al 10,600
01 A2ty 5,000 4,500 500
O SENEX 4SS A Stz 500,000& = 10CH 5,000
02 =29l 8,000 6,715 1,285
O sENEX dE 288 2,000& = 400E = 102 8,000
& 2,400
Al 5,600
206 M=Hl 3,000 4,418 A1,418
01 M=Hl 3,000 4,418 A1,418
O 4H A M= P 50,000 = 10& = 23l 1,000
O &tu4H HHus He 28 200,000& * 100w 2,000
301 det2as 45,750 25,256 20,494
2 890
Al 44,860
07 212+01=2|044| 15,000 15,000 0
O s&HM(sENTRE) ddsY il 15,000,000 * 14 15,000
10 dAEHIZaS 30,750 10,256 20,494
O S&HM =, S W0 75,0008 * 108 * 3& 2,250
O sENZA S dsus 0l 20,000& * 40 * 643l 4,800
O sEXNkzl ddu=F 7,000& = 400 2,800
= 890
Al 1,910
O == AF]E HE3 sS4 7,0002 * 408 = 15043l 4,200




2A: sEXNE N

I SEASHY

ool Sools (e49: =2)
S - B SR(S0) - MRAEY - BaS Of o o HIDS
O 4H SAES 24l 5,000& = 30& = 103 1,500
O sEXNZXz SXda s 25 50,0008 * 40 2,000
O 4Hz| M2UA SHXNHE WS 25 30,000 = 40 1,200
O 88 sEANZAS SXHa s 22X 50,0002 = 40 = 6I43l 12,000
307 @lzZtold 26,000 18,060 7,940
04 QIZHHALE X 26,000 18,060 7,940
O sgel stsHH stitisital 2 15,000,000& = 13l 15,000
O 4Hg| BAES & AL B 2,000,000 = 14 2,000
O 4H3l OFE 3 SHAH EX 6,000,000& * 14! 6,000
O 4-Hal &U=l AL X 3,000,000& = 14 3,000
402 2U2tHE01H 5,000 5,000 0
= 1,000
Al 4,000
01 22ti=Ex 5,000 5,000 0
O gs4Hald AMEEs NE A 5,000,000& * 1JHA 5,000
= 1,000
Al 4,000
SJH SUA 42,105 800,000 AT57,895
101 Q12| 11,515 0 11,515
10 JI2N22NSES 11,515 0 11,515
O sIHSUAIE 298 AR 10,715
o IFY 35,8403 * 1 = b& = 465 8,244
o F=Xt=g 35,8408 « 1 « 46 1,649
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2A: 2t
HZ: sEAZOHY
ool Sools (e49: =2)
SN HE - SR(B) - MRAY - BES ol arey o HI D2
01 RHAHUSEZFSH 2,300 581,000 578,700
O SIASUAMRY WED P 600,000& = 1CH 600
O SIHASUAISY et 2 1,700,000& * 1CH 1,700
S3 8% gdsu=s XN 4,000 4,000 0
& 2,000
Al 2,000
201 LEr2 3| 4,000 4,000 0
& 2,000
Al 2,000
01 ArS2teld] 4,000 4,000 0
O gpragH| 4,000
o 02 N A=DS DY M 1,0008 * 4,0008 4,000
= 2,000
Al 2,000
JINEEd XA 19,400 0 19,400
= 9,700
& 2,910
Al 6,790
405 THAHFSHI 19,400 0 19,400
= 9,700
& 2,910
Al 6,790
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2A: sEXNE N

I SEASHY

CHol: SEMEDHA (SHol: &)
S - B SR(S0) - MRAEY - BaS Of o o HIDS
402 RI2tXHE01H 75,000 95,000 220,000
s 35,000
Al 40,000
01 2iZtit=Ex 75,000 95,000 20,000
O s& MSH oS s4(S4 U8) 5,000,000& * 1JH2 5,000
O =& dSHotote =4 (Aet AtE27) 70,000,000& * 1JH2A 70,000
= 35,000
Al 35,000
HEsgo dlsy A 4,800 4,800 0
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